










• The predefined functions:
– "gaus" = p0*exp(-0.5*pow((x-p1)/p2),2)
– "expo" = exp(p0+p1*x)
– "polN" = p0 + p1*x + p2*pow(x,2) + p3*...
– "landau" (guess the formula!)

How to obtain the values of the fit parameters ?
TF1 *gfit = (TF1 *)h->GetFunction("gaus")
gfit->GetParameter(0)
gfit->GetParameter(1) ...
gfit->GetParError(0) ...
double par[3]
gfit->GetParameters(par)







Store large quantities of same-class objects
TTree class is optimized to reduce disk space and 

enhance access speed
TTree can hold all kind of data
TNtupleis a Ttree that is limited to only hold floating-

point numbers

If we do not use TTree, we need to 
 read each event in its entirety into memory
extract the parameters from the event
Compute quantities from the same
 fill a histogram 



T -> Print(); //print contents of root file










